e PROFESSIONAL EXAMINATION BOARD
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2nd Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / fFafafRTd I s ITHYT I %?
1. Growth is only a mental process. / q@ Faq TP HHFRIG UHaT |
2. Heredity doesn’t affect on learning process. / 3IaiRIedT S{FNTH oo &I THIAT 8! BTl

3. Development is only a quantitative process. / T Had T AETES UihaT B
4. Learning is a process of behavioral changes. / SfFTH TaETRS URad-! &1 ufghar g1

Correct Answer :-

« Learning is a process of behavioral changes. / 3ifTH STagTR UfRac-1 Eak it

2) How many clinical scales were there in the original Minnesota Multiphasic Personality Inventory (MMPI)? /Hﬁﬁﬁ@aqﬁﬂﬁ?

TRt gdedt (THuAdiers) A fran Aarfe twe 32
1. Nine/:ﬁ

2. Eleven / TR

3.Ten/ad

4, Twelve / ARG

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / ﬁqmwﬁrwmwﬁmmqﬁév
1. Proceed from known to unknown. /\_rﬁ Ad I 3R EARCIRS dedl %I

2. Proceed from simple to difficult. /@Wﬁmﬁ G‘hTWT %I

3. Proceed from complex to simple. /@Gﬁﬁ@mﬁ WW%I

4. Proceed from concrete to abstract. /Gﬁ@ﬁ%ﬁ&qm“r \}h?a%_cﬂél

Correct Answer :-

e Proceed from complex to simple. /@Gﬁﬁ@mﬁ WW%I

4) Inclusive education is currently a strategy of education based on the based approach. / Tumash Riem adum & snutfea e ®iur &
YR TR R8T Y T Wi 31

1. Sympathy / FgTIYf
2. Charity / &

3. Apathy / SERIT

4. Rights / 3TIBR

Correct Answer :-

. Rights / IR

5) Gender Schema theory was introducedby ./ i it (Siex Wi Rrsia - & GRT Udd foar T T
1. Jean Piaget /\_rﬂ:f o

2. Kohlberg / m

3. Erikson / Q'F\’aﬂ:f



4, Sandra Bem /HIST@’H

Correct Answer :-

« Sandra Bem /FI?;T@IT

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is i a'l'{‘ﬁ?\‘ﬁﬁ FRiga® SYR, arfore SRR
F T FA F oy e ey e 2l

1. curriculum / UT&dshH

2. students work together on the task / BT HH R UD Y dH EZG %I
3. students’ individual work / BT & AT BTY

4. traditional teaching / IR e

Correct Answer :-
« students work together on the task / ST AR Th Y HhH Exg %I

7) What are tests that rely heavily on language based reasoning called? /

TR THeI0T FT HEaTd & St HTWT Sefea ahifed W ik & 82
1. Accuracy tests /TR TRI&0T

2. Culture fair tests / SHTAT STHE URIETTT

3. Verbal tests / HTR3d TRY&T

4. Nonverbal tests / o ciah URTEfTT

Correct Answer :-

 Verbal tests / ﬁmuﬁ&m

8) What aspect of personality makes a child more likely to be outgoing? /

HfHIE & [P0 Teq & 7= & SMSes (FrfHh) g &t WHIET 98 oIt 82
1. Bxtraversion / STy

2. Introversion / STHEAT

3. Socialisation / FHTSIHROT

4. Neuroticism / Wﬁf
Correct Answer :-

« Extraversion / a‘%ﬂ@m

9) Bandura’s 4 principles of social learning are: / qrATToTE HRATH &% EEQT ¥ 4 Rrgia TAUPR %
1. Metacognition, Attention, Engagement, Motivation/ ﬂaav—\@l‘\fﬂ, &M, 9814, TR

2. Retention, Cognition, Attention, Motivation/ uﬁlw, @H'J-ﬂ%f, &, oRon

3. Attention, Retention, Reproduction, Motivation/ T, uﬁw, US4, TR

4. Attention, Engagement, Collaboration, Motivation/ ®TH, JgTd, ﬂﬁlﬂﬂ, TR

Correct Answer :-

« Attention, Retention, Reproduction, Motivation/ &I, uﬁﬁﬂm, ESGER TR

10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred to, this is fPER eru+ft v &) ofg a91a %

3R 37 ¥4 F IRl &1 TPipd ovd § % I fore ave Hefifa g a1gd §, 98 weamar s:
1. Crisis / §b<

2. Ego identity / 38 Ugd

3. Ego ideal /3(g it

4. Ego /38

Correct Answer :-

« Ego identity / 38 Ug<H



11) At what age does the child learn to control the expression of emotions? / HraTal @1 siftraafan oY fFrifaa o1 = fvg GITEﬁT'ﬂ@_dT %?
1. Adolescence / freRERT

2. Birth to two years / SIH I a‘faﬁtﬁ?

3. Late childhood / U¥ STcdTqRIT

4. Early childhood / TRfY® srearaedt

Correct Answer :-
« Early childhood / TRfY® srearaer

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories? / fafafeaddo- Wﬁ’lmw &g
TIFTHS T Rl & i U Vg &1 B0 HRar 2

1. Humanistic theory / HHadmarg! (E}IHW) g

2. Cognitive development theory / HRTFIE® [dHT RIGT
3. Social learning theory / TTHTSTe HTETH R

4. Existential theory / 3 g

Correct Answer :-

« Social learning theory / ATHTI® ST g

13) Which of these statements is true with regard to aptitude and competence? / Eﬁﬁ PIF-TT YT TgdT 3T &l & Ty § T %?
1. Aptitude is an inborn potential to do something. / P& FHD %’Q ’ChTEIFITW ST HHTEAT @Iﬁ&‘lﬂﬁ'l) %I

2. An aptitude is a developed knowledge. / AR % [qeRid S‘I'F-I%I

3. A competence is a part of an aptitude. / &HdT Yh gy WW%WT%I

4. A competence is an inborn potential to do something. / $& FR P [T &l Ueh Sold SHTa (W&WHT) %I

Correct Answer :-

« Aptitude is an inborn potential to do something. / P& IRAP m rar TP ST GUTIAT (W&IT{T'IT) % |

14) Who introduced the term LQ. (Intelligence Quotient)? / fea 3TE.y, (GfS Surseram U w1 wiawfea far
1. Terman / HT

2. Galton / iee

3. Binet/ foRie

4. Guilford / I

Correct Answer :-

« Terman /THT

15) The psychologist who discovered that children’s perception of reality is not learned from adults but is constructed is: /ﬁﬂhﬁﬁimﬁ YT ST

5 s & arafyemdr Bt yRon FERe! & T8 W ot 3, Afe sae Pt fraremar 313 €
1. Jean Piaget / S fUamet

2. BF Skinner / &l T &R

3. Amold Gesell / 3{TeS T@

4, Howard Gardner / §IaTS TSR

Correct Answer :-

« Jean Piaget / St s

16) During which stage do children start reasoning? / fd SrawT & a= ﬁmqﬁa A E?
1. Adolescence / frRIRT@RIT

2. Late Childhood / 3TR STedTaR{T



3. Infancy / Q=TTTERIT
4. Early Childhood / Ud STeaTa=T

Correct Answer :-

« Late Childhood / 3TR STcaTaRIT

17) Teachers should take a/an rather than group perspectives when considering diversity in the classroom. / a?&ﬂﬁ

Ry R TR 733 97y, Rye 3 TE AN S O TE > VS0 $) @ @ gl
1. Group factor / THE PRD

2. Opinion / 31fHd

3. Student / BT

4. Individual /m’lﬁ

Correct Answer :-

« Individual / SfGATd

18) Which of the following is not an aspect of metacognition? / fafefEa & ¥ w1 TFHa (ReTHR-HIRM) FT TP Ugq -Tel 272
1. Altering consciousness/dT & @I

2. Revising cognitive strategies/STHD ot &) SR wxe

3. Planning cognitive strategies / SIS Jurifert @t Ao ST

4, Monitoring cognitive strategies / GRIFITH® oot @t TR BT

Correct Answer :-

« Altering consciousness/2dT § @I

19) Which of the following is not true about the teaching process? / frafef@a & Rrgmr uftpar & IR & w1 Wy 781 32
1. Teaching is the process with a purpose to bring about learning. /fQI&FUTWBQQq F IOy a@maﬁuﬁm%

2. Teaching does not sway the whole process of learning. /fﬁT&‘fUTﬁ Wﬁ@mﬁ@?ﬁél

3. Teaching does not need a formal set-up. /ﬁl&m%ﬁﬂ 3= gi:lblld CHRIEESE]| q@%l

4. Teaching should be centred around student. / TRre01 B & SMY-UNT BHigd Eﬂ:ﬂ HT%QI

Correct Answer :-

« Teaching does not need a formal set-up. /ﬁTW%ﬁTQ Wgﬁnﬁaﬁ B'HHWTTEET%I

20) Which of the following does not apply to the brainstorming process? / fAafufad A q o faar faust uftear & forw GV
RN T 82

1. Generation of unusual ideas. / 3rFHI fIARY BT goi|

2. Criticism of ideas. /ﬁiﬁ B AT

3. Associating different ideas to come up with a new one. / T & I1¥ 3 & fore fafta faaRt &t se
4. Quantity is more important than quality. / T[0TdT E3l UKL o g 3ifde 'J:ITQ-KHCLUT %I

Correct Answer :-

« Criticism of ideas. / fSaRY &1 TaR=MATI

21) According to Martin and Halverson, when young children observed gender inconsistent behavior, they tend to have:
/ AIfET SR BT & IFUR, 9d BN T A T & 3RATT agR F1 Sraaiiep- fobar, dt 3% g wgfw

1. A distortion of memory/ F{ﬁfﬁ ﬁ?ﬁl

2. An accurate memory / Ych WW@

3. A rejection of the behavior/ dgR 3l mﬁ

4, An imitation of the behavior/ IdgRR GAk Gl



Correct Answer :-

* A distortion of memory/ WI%T Eil ﬁ?ﬁf

22) What problem do children with anorexia nervosa typically have? AR Tater @ ufrd o= @) fafke o & Tar guwn gdt 14
1. Problems with impulse control / 3T =0T & 1Y T

2. Problems with body image [RRR g & ary Ririy

3. Reduced physical exercise / H RIS A

4. Excessive eating / A HISH BT

Correct Answer :-

 Problems with body image /< IR uferdT & Ty Ty

23) What is more likely to help a child remember a story by Tagore? / TR GRT YD HET P g1¢ WA H 99 B Weg A B 3w
HUTET T 32

1. The moral of the story / maﬂaﬁﬁ
2. The size of the story / BT BT 3THR
3. The font of the letters / 3&RY & Hi<

4. The colour of the title /RS BT T

Correct Answer :-
» The moral of the story / mﬁaﬁ?

24) Eliminating caffeine and sugar from diet before bedtime ensures - / T ¥ Ugd STER I FEH ok A+t ) wHTE AT TR Hﬁmﬁ
Sl ¢

1. Reduction in stress / T & S}

2. Good functions of muscles / AR é%a? QT:b‘l’!f

3. Good sleep / MEIEIC

4. Good absorption of nutrients / U dedl BT 3BT ST

Correct Answer :-

e Good sleep / 3BT g

25) How information is typically stored in semantic memory? / 3fTH TR W 3rfma '\"ﬂﬁf (ﬁl’ﬁﬁiﬁ ﬁtﬁﬂ) T TFPR $Y GUgd
it 82
1. Networks/w

2. Skills/ I

3. Tasks /@Taf
4. Groups NTE}[

Correct Answer :-

« Networks/eaeh!
26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early years? | BT IR ERTF?IT %ﬁ? "\ﬂ?@fﬁﬂ auf &
IR e & Fraw o1 e sifteam &2

1. Heckman’s /%a"_a:f

2. Wisconsin’s/ fap1=m
3. Hurlock’s /EW\IE

4. Puberty’s / graar

Correct Answer :-



« Heckman’s / T

27) Mild retardation is a category of mental retardation having an IQ of . | 9g Tear uFfRie tigar &1 Avft o

P ST el B

1.70 to 89 / 70 ¥ 89 TH

2.20t029 /20T 29 dF
3.50t0 69 /50 T 69 AP

4.30t0 49 /30 ¥ 49 T

Correct Answer :-

. 5010 69 /50 ¥ 69 IH

28) To improve the problem solving skills in children, which of the following things can be done?/ =i @) grrsi &

FaFH F P B YUYR $A F Ry, Fufafa & & @ fean o goar 22

1. All of the above / SURIG T

2. Invite children to talk or write about ideas only / Had ARl & IR & 919 B 1 fora & 1%1? T DT THAT B
3. Ask children to draw pictures for stories only / T 9 pad aﬁ'lﬁtﬁ *® ﬁ'm IEEEEIEKA! ﬁl

4. Use blocks and models only / $ad i 3R ATSH BT ITANT B |

Correct Answer :-

« All of the above / SURId FHt

29) Inclusive education means: / FHTARN &M &1 3ref g

1. Education for all children in school. / Tha & uft =t & ferg e woma=h Rrem &1 o &:
2. Education of intelligent children. / SfGHH Sl &1 el

3. Education of the poor children / T1d s=af 1 e

4. Education of the minorities / 3IcUTTHD! 1 e

Correct Answer :-

« Education for all children in school. / ¥®d & it st & fore fRrem) wma=h Riem &7 onef B:
30) GAD stands for: / Suel &1 3d 2:

1. Genetic Anxiety Disease / a1 fedl I (GMfed Tomgd! fafien

2. Genetic Anxiety Disorder / 3TIdfRd fefdl AR (SRfew tomse fEwsiieR)

3. Generalized Anxiety Disorder / Wmﬁw (CRATgSS Talse %?Gﬁé?)

4. Generalized Anxiety Disease /W%W(qua EEALEIECIERIE)

Correct Answer :-

« Generalized Anxiety Disorder / GTHTRIIGd ffdl fIpR (G RaTgss Tomgd fewiay)

Topic:- General Hindi (L1GH)

1) R & e afg ame

Tyt 919 Fed AYHR &, GHER 9 Y|
T fd TR 53 R ), 9@ e UY wee
Tt g I <Y 3T, S veTe |
Sl YA AR 3 b, W f{d Siea urwi
3T 37 7 HY UIge, Iad I §d W€

A rifa BY Mg, & SR Srfifa geTwl
T[S 4R < R G, S Sl A W g



ITTE TR B USHR A4 TS 9 aTd Y= BT I« garsy|
U: “Sield YUTT BT 941 Ueard 82

1. gHI-fRd &

2. TH I PR T

3, YT e At

4, YTQ fgaret ot

Correct Answer :-

. gHA-RA D

2) & & woriifa ufe emul

TUsht 919 Fed AYHR F, THER I UY|
T 3if TR &9 IR &, 3 T3 W weTu
T8 g R &Y I, SR et
St UA AT A &, W R Shera Uil

3 37 T B UTgR, IAd 9 §a qRITI

A Y oFfifer ¥ oMy, W 3R oY gaTU
IS Rt TR G, ST Wl A SfE e
STded Ui B UG A ID S 9T YR $T I« qargel
vy 59 oHfa IR g Ui § & A 82
1. FTH IS T

2. IR AT TH A &

3. IR S U R gl

4. @A I TR Y S TR S

Correct Answer :-

. WAITEA Y TR

3) &R & werifa ufg el

FYh 910 Bed TYHR 5, FAMNER G U

5% off Ig¥ ga ufed &Y, 99 T 7Y veT|

¢ IS S oY ST, SRT-3R veTu

Sl YA N1 M F, W A Siera wmwi

3 37 7 HY UIge, I I §d TWTI

A T 3rifa Y Mg, & SR arFfifa geTul

T 4R o TR G, S YA A W T

ST UL B UGHR A9 U 9 aTd Y= BT @ ga1gu|
UY: 3 T3 UY TS | Tifai fhw vy Y iR Wha B @ &2
1. ToUY IR &1 3R

2. Rl & ufa enfiiy &t oik

3. % & A T Ug ¢ T B 3R

PRETI

Correct Answer :-

« ¥ Qe § ug T Uy &) 3R

4) gik § Torify ofe s

Tyt 919 g aYHR &, GHER 9 Y|
T fd TR 53 TR &, 9@ T %Y vee
¢t g S Y ST, SRT-9e veTu|
St UA AT T &, R ¥ Stera wmg)



3 37 T B UTgR, IAd I §a qWIT

A i 3T BY STy, W 3R S gl

IS R At TR G, ST Wl A SfE Har

Sded Ui B UgHR A UD S 9T YR $T I« qargel
wY: MG & SFHR o BT ol 1 g Afee?

1. &3 yif 1 UTeH AR

2. TS Bt Y T 3R Yol R Bl AT M S|

3. Ul o fore fara |

4, ToTe T UTeH B

Correct Answer :-

. YT B QY A R TS R BT g T A <

5) &R & werifa ufg sme)

Tsht 919 e AYHR &, GHER 9 Y|

3% off Iq¢ ga ufed &, 3@ T Wy TeT

¢ IS S oY ST, SRT-3R eTu

S YA N1 M P, W A Siera wmwi

39 30 A9 B UISE, Iad 9 g WY

A T 3rifa Y Mg, & o arfifa geTUl

T 4’ o TR G, S YA | W T

ITT TR B UGH A9 U 9F aTd Y= BT & 941l
we: M 3 frad d1erd A $01 B 307 WS Ao BT vare fear 82
1. Tt

2. DIl

3. 3&d

4, 37 YT

Correct Answer :-

6) R ¥ Aoifa ufe emul

Tyt 919 Fed AYHR &, GHER 9 Y|

T f TR 53 TR Y, 9@ T HY e

¢ g I <Y ST, RT3 veTu

S Yo @RT 3 F, W ¥ Shera wme|

3 37 T HY UIge, 9Ad I §d qRI€I

A N ifa B Mg, & SR orfifa geTUl

IS 4R < TR G, S YT | oIE Farel

ITfe UL B UgHR A UD WM 9T U $T I&R a1zl
T MR 7 3 a1 a1gd W 75 wWRa #% far?
1. 9 S5 Bl

2. IS B

3. 3 AT HY B

4. 3% YIS IR B

Correct Answer :-

. I IS D!

7) &R & Terifa ofy ey
Tyht 919 FEd AYHR &, GHER 99 TY|



5% off Ig¥ ga Ul &Y, 9@ T 7Y vea|

¢t g A <Y ST, S veTe |

Sl YA AR M P, W R Siera umwi

3T 3T 7 R UTSE, Terd o g XTI

A rifa BY Mg, & SR Srfifa geTUl

IS RY < TR G, Wil YT A WA WA

ST UL B UG A U 9 9T Y= BT @ garsu|
Uy: HOT A MG F I ST-HIT TSI &1 1 Haad 82
1. IRT-HER rstaran

2. 3TAH-FIAH A B Pl

3. HUTCTHIA 1 1d B

4, IR SR

Correct Answer :-

8) aft & worifa ufe sme

Tyt 919 Fed aYHR &, THER 9 Y|
T f TR 53 TR &, 9 T Uy e
¢ g I <Y 3, S veTe |
S Yo @RT 3 F, W Fd Shera wme|

3 37 T B UTge, 9Ad I §d qRI€I

A N rfifa B Mg, & SR arfifa geTUl
IS 4R < TR G, S U | oIE Farel
ITfe UL B UgHR A UD WM aTd U $T I« qargvl
We: PO U gd HY 7l U {2

1. ST aral HA

2. I & forg

3. eiifiad HRATS & forg

4. T &1 gT91-a1et S

Correct Answer :-

- T &1 gTa-aTe S

9) gR & Teifa ufe smui

Tyt 919 Fed AYHR F, THER I UY|

T 3f TR g9 IR &, 3 T3 W TeTu

¢t g I <Y TN, SRT-3e et

Sl Y AT M B, R ¥ Shera w4l

3 37 T H UTgR, Iad J §a qWIT

A i 3T B oMy, W 3R e geul

IS R At TR G, ST Wl 7 SfE e

Sded Ui B UG 1 ID S 9T UK $T IR qargel
TY: T UG ¥ 3fd W T W o | S &1 7 arend 32
1. oo &

2. Afafag=

3. fifcRfgd

4. 31

Correct Answer :-

o Y



10) &R & Aorffa ufg smq

Tyt 919 Fed AYHR &, THER 9 Y|

T fd TR 53 TR Y, 9@ T HY e
¢ g I <Y ST, RT3 e

S Yo @RT 3 F, W Fd Srera wme|

3 37 T HY UTge, 99d I §d qRI€I

A N rfifa BN Mg, & SR arfifa geTUl
ST 4R < TR G, S YT | oIE Fael
Irfe UL B UgHR A U WM aTd U= $T I« qargl
UY: 39 UG § UG g "W e BT 3 82
1. T 57 Xid @ B

2. R 1 RR @@ 3

3. oo 7 RR T /T &

4. T &I B AR I

Correct Answer :-

. T P B AR I

11) &R ¥ e ofe sme

Tyt 919 FEd AYHR &, THER 99 TY|
3% T TR g URA &, 3@ % Y UeTU|
¢ g I <Y ST, RT3 et
Sl Y &R 3 B, TR ¥ Sherd w4l

3 37 T H UTge, 9Ad J §a W€

o FH orfifa B Mg, & o orfifa geTUl
IS Rt T G, ST Wl A SfE Harg|
STde Ui B UgHR A IR S 9T UK $T I« T8¢l
TH: 9 UG ¥ aR-9R R frae! oot 32
1. R &

2. ST SN B

3. w31

4, P

Correct Answer :-

12) &R & wrerifa of sma

Tyt 91d Fed AYHR , THER 9 U]

3% ffa Ig¢ ga ufed &, 3@ T vy TeT|

T gfS oI <Y S, ST-eH veTe|

S YA N1 M &P, W R Siera wmi

3 37 T H UTSR, IAd I §d WIT

A T Srfifa Y Mg, & SR arfifa geTUl

I R T TR G, S I A A Fe|

ITed Ui B UG A UD WM 9T YR P I« qargul
wY: 59 S A Y W fFud forg wye gon @2
1. 1R 3R M gR1 Sd & forg; <1 61 wel §

2. PV P} IRRA F o

3. Had ¥R & faw



4, Fad MG gRT 3gd & g

Correct Answer :-

- HiR SR TN §RT S5 & for; <1 81 981 ©
13) &R & werifa ufe sme

Tyt 919 Fed AYHR &, GHER 9 Y|

T fd TR 53 R Y, 9@ T HY vee

Tt g A <Y ST, S veTe |

S o @RT 3 F, TR Fd Stera Hma|

39 3T 79 B UISE, Iad 9§ g WY

A ifa BV Mg, & SR arfifa geTwl

T[S 4R < R G, S Sl A W g

ST TR B UG A TS 9 9T Y= BT & garsu|
uy: fora ara 3 M 9 e & f &1 o frar
1. Ara-fore &1 faRly

2. 35T BT AT SR 79 W ez &) e

3. U Y fagm

4, IS faRry

Correct Answer :-

.« 35d BT IAMHT 3R 71 R v o) dg

14) &R ¥ e ofe sme

Tyt 919 Fgd AYHR &, GHER 9 TY|

3% T TR g URA &, 39 % Y UeTU|

¢ g S <Y ST, SR veTu

Sl W &R 3 B, R R Sherd Tl

3 37 T H UTge, 94d 9 §d qRI€I

o Y orfifar Y oy, & 3R SFfifa gSTEI

IS &Rl T G, S Wl 7 SAfE Har|

STded Ui B UgHR A ID S 9T U $T I« T8¢l
uy: gR 7 T4 7 3T [Pt Mt & ure 4 far?
1. SR BT

2. g &l

3. PR B

4.35d B

Correct Answer :-

. IEAD

15) UfEd HRR F} STt Far AW b T Tue & LY amar i 38 o 3 wil # wr W I @ wed § 39 S wrd wfreg Nl Y, R R A9 31
T foraT wiTe @ 3% St ora: el AT 7oy forat e € ok 38 Wil 90 w9 wed € wet -0 urelt Wireht ¥ oiR ST g, wagH, 9 aa fobar wirar 81
A gia 8, 38 Wil gufee A vet fh o 38 ® fre-ufa &1 aureR R wirar 8, 39 ave i gu-aeed a9ar 81 9 99 8, 37 o 38 fren &1 g aw
RraT 81 % A1d U5d TP IR TP TRAP a1 A g3 TP 31 He Bt A | a9 A 39 R TP HEA 9% 3T 8T fora; AT g 39w R 31 $ a1 1 9 ATl Id B
T | Ugd el o7 Hiadr-an R | forem araes +is a1 ot 812 ag fora1 % wia:@1a So1, He-814 wia, | b, faaes-awe- e, qoi- e, awmmt | fie,
P! I aiaa 74T; BT dleds Yo fohar ok ar Sy wes e 331, Wi B, fpe & fovan, b foere @vman ofR syt sie = T4, diee e vier fear
SR I TETI 9% 0 FRRa=T o) SresT 7 @t AT 39T 39 39 R &7 4 & st 3R smrel-Td Rras? 39 1 51| 99 | 98 38 99rd g3, 99 | Te-smae
31 feare fora= Ste faan 3k it & Hust o1 feare uftsas— & o 1 faan

AP 2@ & PR 38 RIET IR X 6T §, THBT T BRI 22 A7 A1 8 b 309 Mg et B, iR IRt verd g1y o w1a &1 3oy ora & fpv wrar| &1 914 qw,
IR ORISR F AT S gpTHR S8 R SR FRa §1 3w =iy W w1 A R sreied angare ik wHivare 991 9$t a9t g Y1 § | anare a1
3df 7g B 1 Wl agwr sRieR g1 a1 & orue rard} fag @ oY 39 favg & omard §, 99t aeguiiaeg, e ARsdash SR smant syewr=rel ¥ g@ T argan § f5
T AT H R 8 TH &2 AR AResdasi! T3 &7 B AT Y, WR ITF 99 A rard W Ue & g01 I ¢, {5 a8 Har arare? 3ueT gaad o a8t &
Hrar @ b 1 & e U YR IR G 98 faRTe U 4RO $R S |

STYH TR B TG 1 T Y TR BT Sk qaTsg
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gRdsteleT Ygfd s1afd dar sterrfeled #afd | Jar Jamon «rer: safd
dar REer: safd | efee: aTdamaTor Igar 3ifde safd dar qeaAlteled
#afd | vd AfAdsi Seregargafarata sfa [urfa afed | way
oy IMERISTY fAS0IA, HARITIRTERT gfi¥a: AR &
IERATAIATT F2AT| 357 Afraey fawwdor sfoueE: safea
BT AfISRAEATAT | BE: AdIsT Sie’ 3R 5fa Ichead
T #78TeRT Hiod | TaHe(el: ATAI FAIRATCY ¢ FHATHET
3UERATCEYY TAHABN Tiefed | TaHd Jeddaieay Ta-iAshaeatd
3TN HETT HelSded| el STAaEiaFIAiy HRol fafd | 3
Stefotide] gy #Tafd | I Alfled o FFAfT T STefollaad JRITIRT
JEH T add | 3cl: TRETEETUE 3Taede safd |

o= ‘3ffaared:’ 96T Ugledd [hAed?

He:

1. ™

N A

Correct Answer :-



Topic:- Social Science (SSC)

1) Who said that, “The President occupies the same position as the King in the British Constitution”. / faa T Ut ﬁ? ~fafewr dfgu= & ?Tg"fﬁf ICT &
FH AT Tg0 AT 61

1. S. Radhakrishnan / . TYTH W

2.Dr. B.R. Ambedkar / ST. S1.31R. $FISHI

3. Dr. Rajendra Prasad / 3T, Iog TS

4, V. V. Giri /a1 AR

Correct Answer :-

« Dr. BR. Ambedkar / ST. §1.3/R. 3FSSHT

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / 5Td HgYq J ATy qﬁ? TR gHdT fear T, 3 HHY [oRRTd BT
TS P UT?

1. Bhim Dev/lﬁnaﬂ

2. Mula Raja / HcIT TSI
3. Siddha Raja / g =T
4, Kumar Pal / HR YT

Correct Answer :-

o Bhim Dev / “—ﬁﬂa'a

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? / fRafaf@a & & snfea e 9=1 & gewig
3fEe T8 BT HPaRT B T 8?2

1. Gol Gumbaz / T T[¥aol
2. Juma Masjid / STTHT ARG
3. Taj Mahal / dIoTHEd

4. Qutub Minar / Pdd R
Correct Answer :-

» Gol Gumbaz /Thﬁw

____inthe Constitution set forth the humanitarian social precepts that aim at social revolution. / Tfam & G IECOIGIFEILIEED
:m%qﬁ & ity forar e Stxa arfsre wifa 81

1. Right to Equality / THAT BT HRABR

2. Right to Equal Protection / FH TR&f0T HT RIHR

3. Right to Education / fRI&T &1 fI®R

4. Directive Principles of State Policy / 59 % <Hfa ez aa
Correct Answer :-

 Directive Principles of State Policy / 59 % <Hifa e aa

5) The test that predicts the performance of individual in a particular field is: / Q"\"'IT heor o fddt fagiy & # safed & uaeiq &1 113{31:"7-[
HT 8

1. Diagnostic test / Farte T

2. Prognostic test /qafanm e

3. Achievement test / ST TRT&I0T

4, Teacher made test/ TR/ IRT faa 7T TifoT

Correct Answer :-

« Prognostic test /qﬁfﬂ'ﬂﬁ e



6) Which among the following correctly represents the Honduran Emerald? / Fafafea A I ST ﬁw THRIS P el v I g=Itar
?

1. A beach in Honduras / Eﬁw | T JHx dc

2. An endangered bird of Honduras / aw DI Uh v U&ﬁ

3. An ore found in Honduras / Eﬁgﬂﬂ T U o aTel U S

4. An island in the Atlantic Ocean / 3fedifed HeTR o Uh &g

Correct Answer :-

+ An endangered bird of Honduras / 6|'§QIH P Uh U™ q&‘ﬁ

7) Pohang Iron and Steel Company is from which among the following countries? / fFrafafaa & 3 Wi smra s WA sl fra e
®

1. South Korea / Gfe0r ®Ifkan
2. North Korea / 31X HINET
3. China / 4

4. Japan / SITUTT

Correct Answer :-

« South Korea / Gf&{0T ®If¥aT

8) Hubbert peak theory is related to which of the following? / EE?E Rrer ﬁl@a ﬁ'ﬂmﬁ o A foaa ddfta %?
1. Currency Trade / &I STUR

2. Petroleum / a’@ﬁuﬂ

3. Metabolism / IITTIY

4. Nuclear Energy / UXHIU[ Solf

Correct Answer :-

« Petroleum / ﬁ'cjﬁm

9) Who is the administrative head of Prime Minister’s Office? / gYTHEAT Cavicekd yrfe g9 aﬁq %'?
1. Prime Minister / TYTTHT

2. Principal Secretary / YT gfra

3. Cabinet / AAHsd

4. Cabinet Secretary / Hfred gfua

Correct Answer :-

« Principal Secretary / U4 i

10) A type of evaluation which is used to improve and monitor the progress of students and teachers is: / WWWW%, Elj
BT 3R et &t warfa § R iR PR F fore forar srar 81

1. Formative evaluation / JI-T&® Hedih
2. Norm-referenced evaluation / AF® Tgfd Jeaia

3. Summative evaluation / ITTe® edidh1

4, Criterion-referenced evaluation / ATES T fd i

Correct Answer :-
« Formative evaluation / Ia-THD HcdThT

11) Mind is a ‘Tabula Rasa’. Who said this? / 1 € ‘dqell I8’ (Tabula Rasa’)% qg e DgI?



1. Immanuel Kant / SHTIIA Hic

2. Michel Foucault / f=I@ W

3. Friedrich Nietzsche / TFeR® il
4. John Locke / 511 @i

Correct Answer :-

« John Locke / ST Al

12) Before Ashoka became Mauryan king, which province did he serve as governor? / 3N® A IS T I U'Ea'ﬁ o uia ® IsuuTa &
9 d o1 FRd A2

1. Taxila / &R

2. Vaisal / a'lgﬂﬂ

3. Pataliputra / tl'l??ﬂ'ﬂﬁ
4. Ujjain / IO
Correct Answer :-

« Taxila / G&ITRIaT

13) The First Factory Act restricting the working hours of women and children was adopted during whose time? / 'FI'I%?ITGﬁ IR T= & P

& del &t ufaafia S aren ugen sraEr sftfaw feae awa A srommar mar 412
1. Lord Ripon / drs o=

2. Lord Lytton / drs fered

3. Lord Bentinck / @S dfcd

4. Lord Cornwallis / TS PIHaTierd

Correct Answer :-

« Lord Ripon/ qrs o=

14) The term Isostasy describes: / 'ﬁ[—ﬂﬂ?ﬁ' Teq forg &Y e s3ar %:
1. The state of disruption / faeeT &t fRufa

2. The state of balance / T CAREIIR]

3. The state of uplift / MU Pt fyfa

4. The state of subduction / FEwEa &1 fUfq

Correct Answer :-

« The state of balance / T ot fRUfa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired the liberation struggle of Bangladesh and was

adopted as the National Anthem of Bangladesh. Who wrote this song? /W%ﬁ%ﬁm%mﬁ@mmﬂ me k|
T & ST S Had B AR o SR 3 Fiven & W M F T F JeTar T g W e e 32

1. Michael Madusudan Dutt / HIgH T HYJ e ql
2. Mukund Das / P& &

3. Bankim Chandra / §fpH 9%

4, Rabindra Nath Tagore / ey IR

Correct Answer :-

+ Rabindra Nath Tagore /X deTY SR

16) The coral reefs are the marine counterparts of which of the following? / WdTdl BGEIE) E frafefaa o 3 feast Wﬂﬁ 'Qﬁ'q&l' %’?

1. Savannahs / SWIGICE N O He (JATT)




2. Scrubland / gUHH (THedIS)
3. Temperate forests / BERNIGINECET
4, Tropical rainforests / Sumes g aul-aq

Correct Answer :-

« Tropical rainforests / FHUGeS g aul-a

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? / Eﬁﬁlﬁl frata wads qﬁw (m@) )
qReTey gl fRya 82

1. Delhi / feett

2. Jaipur / SIIYR

3. Varanasi / RO

4. Kolkata / CANCAG

Correct Answer :-

« Delhi / faeeht

18) Which one of the following aroused a wave of popular indignation that led to the massacre by the British at Jallianwala Bagh? / ﬁ'ﬁﬁl@ﬂ'

T I 5T U A B Smhir 3 deR A1 #X &Y orad R Sl gRT Sergiarar anT § AREER gaim?
1. Government of India Act 1919 / YRd IRSR AT 1919

2. The Rowlatt Act/ & Jdie TaE (BTl BIL)

3. The Arms Act / 3(TY SfAFATH

4. The Vernacular Press Act / FIaIER U Uae

Correct Answer :-

. TheRowlattAct/aiéaQaE@l?ﬂﬁtﬁ)

19) Which one of the following is not a method used for the assessment of personality? /m & TP & ﬁl'l'{ IUUNT B 1A arett fafdr
fFrafafea § @ o= @ =i @

1. Project method / T fafey

2. Projective method / H?H'Eﬂ fafdr

3. Objective method / aﬁﬁ'g fafar
4. Subjective method / Wﬁg fafar

Correct Answer :-

« Project method / TR fafy

20) Which is not a third Century BCE stupa? / Gicacif m i‘m ‘Ffﬂﬂ £S5 aﬁq 1 ﬁ%"
1. Dhamek Stupa / ‘iﬂﬁ@_ﬁq

2. Kesaria Stupa / Wﬁq

3. Amaravati Stupa / SERTAT XU

4. Sanchi Stupa /Hi?ﬁ XU

Correct Answer :-

« Dhamek Stupa / Wﬂq

21) Which is not a structure in the premises of Qutub Minar? / $dd R * Lceany | ﬁq I w=T qﬁ%"
1. Quwaat ul Islam mosque / Podd 3¢ TXIH TG

2. Alai Darwaza / 31?”_5: [RCIS

3. Aibak’s Magbara / ﬁaﬂﬁ_ ‘D[ HhdRT



4. Iron Pillar / ?‘ﬁ% EARCES

Correct Answer :-

« Aibak’s Maqgbara / USH BT ABR]

22) Which is the first Biosphere reserve in India? / HRd o ygar TrEsiaR ferd IGRIEAG mﬂ) okl %?
1. Sunderbans Biosphere reserve / W TRARBGRR erd

2. Nilgiri Biosphere Reserve / W W ﬁTﬂﬁc

3. Nanda Devi Biosphere Reserve / :ET ﬁ W ﬁTﬂé

4. Gulf of Mannar Biosphere Reserve / HAR B '@Eﬁ TR fod

Correct Answer :-

« Nilgiri Biosphere Reserve / Y sfermR Red

23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / FieTdt Wy Rade & SR e T[T ITSIT E] Il &
forg wend fmam am

1. Samudragupta / S
2. Chandragupta II / IS 11
3. Chandragupta I / S 1
4, Skandagupta / ST

Correct Answer :-

« Skandagupta / ThGI

24) Which among the following was the last European country to rule Goa? /

fFrafafEa o / Mar W IE= HA aren sifaw R 3= & a1 A
1. Netherlands / 1aRaiS

2. England / §7018

3. Portugal / GaTIdl

4. France / WY

Correct Answer :-

« Portugal / Q—r&ﬂﬂ

25) Which among the following is known as “Coffee Port” of the world? / fFrafafea ¥ 3 5 fay & «Hrel e & =0 F 9H1 o 82
1. Santiago / ?ri%&n?ﬁ

2. Santos / ?ra?{

3. Rio de Janeiro /ﬁq‘rsﬁﬁ?‘r

4. Buenos Aires / &9 g

Correct Answer :-

« Santos / g

26) Which metal was unknown to Harappans? /P CIGH J TS WH 3MITd DL
1. Bronze / &1

2. Silver / X5Id

3. Copper / GIEN

4, Iron / Fﬁ’s’

Correct Answer :-



. Iron/?ﬁ?

27) Which Constitutional Amendment Act removed Right to Property from the list of Fundamental Rights? / fra g e e

ftfrm = wufv & sifteR ot #ifee Sftrer) ot 3=t & ger faar?
1. 42" /428

2. 418t 7 419

3. 46 / 469

4. 44 / 249

Correct Answer :-

. 44t/ 449

28) To promote equity in agriculture the government had introduced system where the maximum size of land which could be owned by an individual

is fixed. / P A waa F Te@ A FRUTWSR T yonel 3= a1 A, Rl v safaa gy <@g yfty o1 siftreaw amerR a2
1. Land ceiling / 4f¥1 SfemT (s wifem)

2. Land reform / 4 guR

3. Land Parcel / 4ff rfa

4. Land fixation / 4 fefRor

Correct Answer :-

+ Land ceiling / 4ff1 ST (oS wife)

29) Second five year plan was popularly knownas ./t tgadffuds i @efaE®ud_ & 919 A 9= STan Al
1. Gandhian Model / Tidftarc} Aigd

2. Nehruvian Model /Wﬁl@ﬂ

3. Mahalanobis Model / TgTa-Ifo Algd

4, Harrod-Domar Model / %? S-SR Alsd

Correct Answer :-
« Mahalanobis Model / HETaAIST AiSd

30) Match the educationists with their contribution. /ﬁT&'{m BT ITP 1ﬁ"TﬂT:-T T e &3

Educationists Contribution
a. Lev Vygotsky / for@ i. Project Method / Wislge.
ClETISET) fafer o= &t
b. BF. Skimmer/ &1 ii. Constructivist Leaming /
EEATS T 1
c. Kilpatrick %—tﬁ?—d; iii. Jurisprudential Inquiry /

faferemes gas =

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
/ETTes Afdat ST FiGaag HieH
gt

1. a— (iv); b — (ii); ¢ — (ii); d — (T)
2. a—(i); b — (ii); ¢ — (iii); d — (iv)
3. a— (iii); b — (ii); c — (iv); d - (i)
4. a— (if); b— (iv); ¢ — (i); d — (i)
Correct Answer :-

« a—(ii); b (iv); ¢ — (i); d — (iii)



Which is the process of assessing the progress of learners by identifying areas of difficulties through diagnoses and remedial actions as part of the
instructional process? / FETaT® Ufpar & R & = # e iR SRS Al & Areaw | SfsArgal & & I ugaq w3 Rignfiat &1 wifa &1 snea=
T P ufrar R R?

1. Summative Evaluation / GRTIEd® oo
2. Final Examination / 3ifcrd oRtef

3. Integrated Evaluation / ThIdbd Tedid1

4. Formative Evaluation / 0TS edics
Correct Answer :-

« Formative Evaluation / OIS Tedics

32) Which is the forest conservation movement in India where local people prevented the cutting down of trees? /R B B | I UREOT JTSaT & g
R A 08! &1 Prea A APpd 272

1. Bhoodan movement / 4G 3fiara

2. Cooperative movement / TEHINT g
3. Consolidation of land / 'ﬁ[&[ﬁm

4. Chipko movement / foge! sfigiad

Correct Answer :-

« Chipko movement / RIo®! sfigiaH

33) Which of the following is the correct psychological way of proceeding in Social Science teaching? / fFrafafaa 3 S = e ﬁﬁ'ﬁﬁT&WT o 3t
g P 3fua wEaTIS afeT 32

1. Difficult to Simple / BT Y WA
2. Concrete to Abstract / H\T‘f Bl Gin
3. Unknown to Known / 3{Td ¥ 1

4. General to Particular / I/ § fafary

Correct Answer :-

» Concrete to Abstract / H\?f Bl \}I'i?f

34) Which among the following is an example for non-institutional credits? / FrafafEa & @ S 91 R-URIFTE 9" & e T IergRur 2
1. Regional rural banks / &g T ¥

2. Nationalised banks /wju%éﬁ

3. Moneylenders / HIghRR

4. Cooperative banks / BRI ¥5

Correct Answer :-

» Moneylenders / HIghR

35) Which among the following is a non-conventional source of energy? / FrafafEa & @ S el &1 TP TR-RAT i 82
1. Natural gas / W@ﬁiﬁﬁﬂ

2. Petroleum /ﬁ?ﬂ%ﬁl‘q

3. Coal and lignite / SYTaT 3R fewmge

4. Wind energy / Udd &l

Correct Answer :-

» Wind energy / Udd &l

36) Projective techniques are used for the assessment of one’s J fedt TP * ¥ H\T'Q'ﬁ"_'l F 'I%I'E Moifeea aa-iel o1 ST
far smar 81

1. Development / fa@&™
2. Personality / SaId



3. Growth / q@
4. Intelligence / Tg'@

Correct Answer :-

« Personality / Sfda@

37) is a policy which aimed at replacing or substituting imports with domestic production. / w#’rﬁr%ma%m arrm?hﬁsﬁq
IeuTe § R ST a1 aeaT 3 |

1. Balance of trade /achrr\fﬁ'qa?
2. Balance of payment / YTTdT I
3. Export reduction / fafd =g=itaor

4, Import substitution / ST WARITAT

Correct Answer :-
« TImport substitution / 3{TATd g

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove to be the most effective tool for providing education in
the context of all the core components envisaged by National Policy on Education.’ / A uran fo ammfoe ﬁﬁF{, RMAG Thdl UTsd a= %GﬁﬁT&ﬂ W
gt Hifa grt ufveferd w1t ger gewt & de & Rian ve $37 o1 wad qurdt Susee Wi g aedar 31

1. National Curriculum For Elementary And Secondary Education (1988) / UTdTH 3R i e & fow TI'QTH qIdshH (1988)
2. National Curriculum Framework (2005) /ﬂ@qmﬁw (2005)
3. Secondary Education Commission (1952-1953) / ATeAf®d & 3T (1952-1953)

4, A Framework of NCERT (1975) / TTEIS3{RE} 1 Ueh 0T (1975)

Correct Answer :-
« National Curriculum For Elementary And Secondary Education (1988) / UTfies iR Feafires Rief 3 g Igta uraashd (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it from hell.”? / ﬁnﬁwf&z "ﬁqaawgmﬁﬁﬁﬁ'
A A & fore T8 s T o7, 9fp 39 R A TuE $ R a7 v anie?

1. Dag Hammarskjold / T IRTIE
2. Antonio Guterres / IR ™
3. Boutros Boutros-Ghali /Wﬁjﬁ'ﬂ‘ﬂﬁﬁ

4. Ban Ki—Moon/ SM &I -4

Correct Answer :-

» Dag Hammarskjold / S IR

40) Who was the first Indian to be the Governor General of India? / HRA & HeRTSIUTA (TWEFR?D ﬁmﬁﬁa HRI B 4?2
1. C. Rajagopalachari / 9. JISOTeTaRt

2. Fakhruddin Ali Ahmed / BEEH 3fell 367G

3. Lal Bahadur Shastri / TTel SgTgR IT¥el!

4. V.V. Giri / @& iR

Correct Answer :-

« C. Rajagopalachari / 7. JSRTUTRTER

41) Who upheld the view that religion can never be separated from politics? / fFT 30 ¥HI0T B RBIR 3@ % otf Y Iorifa F Haft sremr 78 far =
TqHan

1. Dayanand Saraswati / GG SR¥dd!
2. Raja Ram Mohan Roy / TSl I Hig I
3. Gopal Krishna Gokhlae / TTUTd 07 TRad

4, Mahatma Gandhi / FgTeT e

Correct Answer :-



« Mahatma Gandhi / FGTET e

42) The process of transferring the income from asset owning people to non-asset owning people is . 1 TREUR & Wifere @ B Rl &-
TR T AR ¥ ST RIHARE B B ufhar B

1. Vicious cycle effect / gSIsh UHTd

2. Trickle-down effect / TUH RigT (fHd-S187 UHI@)
3. Balanced growth strategy / Iqferd gfg Yorifa

4. Lorenz curve / @RS a6

Correct Answer :-

o Trickle-down effect / TUH RIgHd (THT-S137 Uum@)

43) The Members of Parliament are free to raise any matter that they think is important during ./ F aTF{ E:R:rd F g™ it off

I UTHA $I IS & AT Waa g1 & it 38 avrar ¢ for wgeayul 81
1. Question Hour / UHPTA

2. Adjournment Motion / RITT TRTd

3. Half -an-hour discussion / 3% €< &1 7

4. Zero Hour / DT
Correct Answer :-

+ Zero Hour / YLIADT

44) Which among the following rivers is most described in the Rig Veda? /mﬂﬁﬁﬁq?ﬁqﬁ %"aﬁﬁm arﬁmaﬁh%v
1. Ganga /TR

2. Sindhu /ﬁ[ﬂ

3. Saraswati / gXIadt

4. Chenab / oM@

Correct Answer :-

« Sindhu /ﬁ[‘{{

45) Who among the following is the author of “Ain-i-Akbari”? / Frafefaa =) “m—q-m” BT AEP P %‘.’
1. Ishwar Das /'&F%RW

2. Abul Fazl / 3{gdT tholel

3. Mulla Daud / ol QT3

4. Akbar / 3{h&R

Correct Answer :-
+ Abul Fazl / 3 Holel

46) is a system where by the farmers pool their milk produced according to different grading and it is processed and marketed to urban centres
through cooperatives. / T U AT & T fharT SrenT-SrenT it & SRR U SeTied gof T UGV BRd & 3N¥ 36 WePhRY Fidfoal & arery @
e U9 et S5t | faspa e e 31

1. Operation Mantra / S{TOR=H H
2. Operation Torrent / 3{TURTM eRe
3. Operation Serve / SR I

4. Operation Flood / TR TS

Correct Answer :-

« Operation Flood / TR TS



47) Which of the following banks installed the first ATM in India? / FafoRad & & fed & 3 yRa & ygen vdieq wafua fean
1. 1CICI / SETamhang

2. HDFC / TaSIUH !

3. Yes Bank /a’ﬂaﬁﬁ_

4. HSBC / TIUqE R

Correct Answer :-

« HSBC / TIUed

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who is the author of this book? / s ds < #Wm

sfadl R Taf FR € U TS 81 79 HNE $ AGD P 32
1. Bill Mollison / foe Hifere=
2. Albert Howard / 3¢ a8
3. Eliot Colman / TfRIE HIcEH
4. Masanobu Fukuoka / FAETHIg G@3Hia

Correct Answer :-

» Masanobu Fukuoka / W{:ﬂ:ﬁﬁ %W

49) The learning strategy which is associated with 5 E’s (Engage, Explore, Explain, Elaborate and Evaluate) model is: / 3IftRTH Iurifa st 5
£ % 1y IS g$ § (Faw, 33wy, s, fRaR o euie) Wisy €

1. Constructivism / GIHATG

2. Social inquiry model / STHING JH TS A8
3. Branching programming / RITGT PP

4. Team teaching / < Rueror

Correct Answer :-

« Constructivism / GIHAG

50) The process of collecting, analyzing, recording and interpreting information about student learning is known as: / BT & Iferw &

v # SFeR) o7 $, It o1, Reis a3 iR fadaw o ot uftear o = wer o @:
1. Role play / Jd @

2. Assessment / S{Th T

3. Testing / Ri&r

4. Dramatization / ACH Y TUTAR

Correct Answer :-

« Assessment / Th -

51) To choose appropriate teaching strategy, the teacher considers which of the following factors? / SUgdd Rregor Torifa
T & forg, e Fafaf@a & ¥ 59 oRe R R sxar &2

1. Sports/cultural days in the school / ¥p ¢l ﬁ@aw%w feag
2. Visits by inspecting authorities / e sifiremIieal gRT YT
3. Abilities of the learners / Rreqfiay ot Avgary

4. Year Plan given by the school / faemera gri <t Trg Y e

Correct Answer :-

« Abilities of the learners / et @) argamy

52) The term “brainstorming” was first coined by: / I "fAR-HYA" TSA Ugd 7T §RT g frar mar o :
1. Osborn / 3{aT



2. Johnson / SEH
3. Caldwell Cook / HTeedd HH
4. Bruner / R

Correct Answer :-

« Osborn / 3faT+

53) Idealism strongly promotes: / 3eziarg Tedl fra et derdrl AT e:
1. Source of knowledge is nature / U J19 &1 A g

2. Senses are the gateways of knowledge/ Hag-Tg IABIEREI

3. Axiological belief in absolute values / H{Ufﬂjﬂﬁ T SfrYTaTe} fayr

4, There are many truths as there are many paths / ﬁ qd % i ﬁ I %I

Correct Answer :-

. Axiological belief in absolute values / Tuf Tedt & SRTATEY fayr

54) To attend the individual differences in the class, what should the teacher of Social Science do? / P&[T H fdaTra 3’ 31 mﬁ' & ﬁl’Q’,
TS fagT &1 Rer: -

1. Uses variety of learning experiences / fafte siftrme 3‘@“—@ BT ST Bl % |

2. Gives different types of assignments / [CIREREArED Wﬁa (ﬁ%m} odr % |

3. Conducts tests end of the week / TIlg & 3 H Qﬁ&‘mf SIS BT %l

4. Makes sure all the students are present everyday / g {[ﬁfﬁiﬁ DAl % foaftem B ﬁ\_ﬂ IufRyd E:Pfl

Correct Answer :-

« Uses variety of learning experiences / fafira st 3133-@' BT IUTNT Bl % I

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while teaching a lesson on the struggle for Independence to: /

fR1grep Tac=raT WUy IR UTS UgTd g¢ WeTe it gRT R Y ust Y el wifvar i fearan #:
1. Supplement the concepts with facts / T & TTY GURUNSHT HT Siie- & g

2. Adopt deductive approach / AT EP®HI0T SO & farg |

3. Use problem solving procedures / TN YHTY UfshaTaft &1 TN B & feg|

4. Execute a project / IRAISHT (Woide) o fsaiied o4 & faw

Correct Answer :-

« Supplement the concepts with facts / Tl & I YRS B \_rﬂ?:%f & fog

56) Who set up the Indian Independence League? / YR ST T fHaa =ifud S
1. Dadabhai Naoroji / GTGTHTS RISt

2. Rashbehari Bose /mm

3. B.R.Ambedkar / 1. 3R, 3{dSHT

4.Mahatma Gandhi / FgTT el

Correct Answer :-

« Rashbehari Bose /Wﬁ%’lﬁiﬁﬂ

57) CANCELLED

Which of the following is metamorphic rock? / Frafafea 4 3 sriaia g P %?
1. Marble / TITHIR

2. Sandstone / I3 URR



3. Mica / HYDH
4. Schist / R

Correct Answer :-

« Schist /R

58) CANCELLED

Ajanta Paintings represent the scenes from: / 3rorar & fo e & el 1 E'Q'Iﬁ %
1. Jatakas / STRIcT

2. Mahabharata / HTHRd

3. Ramayana / XTHIIUT

4. Upanisads / Iufeg

Correct Answer :-

« Jatakas / SIRTdT

59) EBP stands for: / iﬁtﬂ Cal ﬁ'\‘ﬂﬁ *q %:
1. Evidence Based Practice / a3~ 338 Ufdeq

2. Evidence Based Problem / Tfag~ o%€ Ulsad

3. Education Based Practice / Q@ﬁ@ﬂé"?&' ey

4. Education Based Problem / Qgﬁ?é@ﬁ@n

Correct Answer :-

« Evidence Based Practice / Qﬁé:\qaﬁ Ufgeqg

60) Density of population is computed by which of the following method. / SRS & @ P TUMAET ﬁ'ﬂ' ¥ 9 g faf aRT CARCIn| %I
1. Female population divided by area / A% gRT fauToTa Afgar S

2. Male population divided by area / A% d gRT fautiora T3 ST

3. Area divided by total population / P SITIHTHT GRT fauTiora e a

4, Total Population divided by area / &A% d gRI T B T

Correct Answer :-

« Total Population divided by area / &FHT GRI fAUTIT FHd SEGAT



